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7 (=1,028) ? (=672) P - value
( =1,700) () ()
457 57.2 342 42.8 010%*
571 63.4 330 36.6
X2 =6.761
15 81 60.45 53 39.55 312
16 755 59.78 508 40.22
17 177 62.10 108 37.90
18 15 83.30 3 16.70
X2=4769
0.00 - 1.00 21 75.0 7 25.0 044*
1.01 - 2.00 428 62.1 267 37.9
201 -3.00 531 289 356 40.1
3.01 -4.00 46 49.5 47 50.5
X2=8.106
1-3 728 60.5 476 39.5 009**
4-6 244 57.7 179 42.3
7 56 76.7 17 23.3
X2 =9431
116 65.5 61 34.5 167
912 59.9 611 40.1
X2= 2121

*p< 06 *opc 1

P - Value 0 .009
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()
( =1,028) ( =672)
- 1700 () () p-value
2
/ 95 59.40 65 40.60 845

571 59.80 384 40.20
158 60.31 104 39.69
103 65.61 54 34.39
3 60.79 20 39.21
59 59.60 40 40.40

X2 =2.028
141 723 54 21.70 004"
835 58.80 585 41.20
51 61.45 3 38.55

X2 = 15321
47 70.1 20 29.9 125
978 60.0 651 40.0

X2= 2.752
61 66.3 3 337 273
965 60.2 639 39.8

X2 = 1374
T 58.7 546 433 0.39
16 72.7 6 213
121 68.0 57 320
112 64.4 62 35.6

X2 = 8.360

p< 05 "< (L
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P < (01

44.55

31.68

36.93
001

671
669
669

001

001

X~
44.55
37.68

36.93
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5.60
3.15
498

XII
1026 41.64

1025 35.19

1024 3431

41.64
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Model SS df MS F
Regression  22273.102 3 1424.367 157.796
Residual ~ 79281.645 1685 47.051

Total 101554.75 1688
« p < 001

Predictor : (Constant) 1SFF 1ISUMRL 1SFT
10 (SFF)
(SFT)
001

il

B SE Beta t
-637 051 -293 -12.503
-211 027 -174 -1.809
-.266 036 -175 -7.450
=1,688 Constant = 54416 R=.468 R2=.219
wkpo< 001

il

001 R2= 219 ,F=157.7193 P=.000

293 174 175
001 - 3
219

61

p-value
.000"

p-value
000%
000"
000"
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